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Note:- You have four choices for each obJ ective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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(D) (€ (B) (A) QUESTIONS Q-1
ot sirtys Jrus by Wty |
distance Displacement Velocity Speed A change in position is called
. z yuéu)i/ s S Jx J( P J Spins 2
J,T i ;:f:;farble d.lé -4 bn{ uj e uy»ziuu:.é/ ’
0il Air Water Which of the following materials lowers the friction
powder when pushed between metal plates
-4.‘3@’;._//4,&7 Jufagj:d}gJﬂ 3
5000 ng 100 g 2mg 0.01g ' il _
Which one of the following is the smallest quantity.
s oL (lf i1 J(’.l; ..g:.u‘.‘.‘; LI NSY Wt g1 4
Wait Newton Kilogramme Pascal Which one of the following unit is not a derived unit
98.6°C | 37°F 37°C 15 °¢ e AW eS|
Normal human body temperature is
Cﬂ’d;‘./ L’Ji"(/ &f“ﬂ/ 51}(ﬂ;;?!.l w6 7JB1 S0 5 S 6
Radiation | Convection | Conduction Bélglll?;i;.lggr In gases, heat is mainly transferred by
q " . ; PR Ve VI ST
The Number of perpendicular components of a force are
VA6 Bt 30°F 0 LA -Xud LIS £ 10 p
8.7N 7N 5N 4N L
A force of 10 N is making an angle of 30° with the
horizontal. Its horizontal component will be
5 H *

8000 ms™) 800 ms™* | 8 ms™ Zoro M The orbital s;:_e-g :éﬁivtf;i,sﬁihtz Lbﬁuﬁ o
Gy SAE | Gady | Giea -Gt i | 1o
Nuclear Chemical Kinetic Heat energy | The energy stored in coal is

energy energy energy
Lty oA e U In which of L 3 U 4 () Pt te s wd S | 1,
Plasma Gas Liquid Solid the following state molecules do not leave their position.
o f"::,LJ df/ 4¥ -gtﬁcru/(:«b))é.du:’/ 12
Lead Aluminum Mercury Copper Which of the substances is the lightest one
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Part

* Answer briefly any Five parts from the followings.
What is meant by base units and derived units?
Define speed and velocity! -/ <8 P Vsl b Giii)
Write four name of main branches of physics.
Name the types of motion:
Define acceleration and write its unit.
What is Newtons First law of motion?% e/ =/ 7 95 g/ ¢ (viii)
Answer briefly any Five parts from the followings. 5%x2=10
What is meant by moment arm?
What is meant by field force? St i3 42 (i)
State 2nd condition of equilibirium. Also give formula.

Define force of gravitation.
Write two uses of artificial satellite.
Differentiate between kinetic energy and potential energy.

Define chemical energy. Give two examples.

Answer briefly any Five parts from the followings. 5x2=10
Write down two important features of kinetic molecular model of matter.
Define strain. Why strain has no unit?

T‘i‘__)l/_.l/c..d/'le-'lJf)'Lf((iV)

Change 300 K on Kelvin scale into Celsius scale of temperature.

What s Internal energy of a body?

Write down some measures to save energy in homes.
Why are metals good conductors of heat?

Define Conduction, a way of heat transfer.
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Define Inertia. -/ 2815 (viD)
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Note: Attempt any Two Questions. 9x2=18

5.a. Derive the first equation of motion with the help of speed-time graph. 4 - St d'f;g( S e sa J Jlf (/' bty (a)s
b.  Find the acceleration produced by a force of 100 N in a mass of 50 Kg. -sz.ﬁﬁ.uy)’flt;ru/}url 00 Nuff)‘ngLJL(l;:KSO (b)

6.a. Derive the mass of the Earth. 4 s (ad6
b. Calculate the power of a pump which can lift 200 Kg of L:Cgﬁ';fd,«lu(ﬁ m J-10S fd& 200Kg %Vgl (b)

water through a height of 6m in 10 seconds. ..éf.{r:b’nggffg-ﬁ:_

7.a. How various surfaces can be compared by Leslie Cube? 4 -ﬁ;.l:cl.p t[cf .'JirKu.JV ¥ 2,‘,.;5&.,«’{ b4 (a)7

b. Abrassrodis 1 mlongat0 °C. Find its length at 5 JHJJ'-‘LUJ-}{-{’%/;}O °C£CWJJ?3.{' ()

30 °C.(coef ficient of linear expansion
of brass = 1.9 x 1075 K1,
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(D) © (B) (A QUESTIONS Q-1
sk s M‘#Jﬁ Je ?ﬁ;_/'g,mﬁﬂfuf:—u:dh?/ﬂ 1
Power Distance Displacement Speed Vector quantity is (which of the following is a vector quantity)
1 Kgms™ 2 gms”’ 1 gms™ 1 Kgms? | 1 Newtonisequal to: iebysls oLk 2
0.866 0.577 0.5 0.707 The value of Sin 60° is: te=df Sin60° | 3
. ] . ; T U ST |,
The number of base units in SI is?
Bof #55% 3 R S Sonirdipid L4 ek RS prédads’|
Screw Measuring Vernier Meter rod Which instrument is most suitable to ?q.lwu:r ’
gauge tape Callipers measure the internal diameter of a Test tube?

g < oy 4 te et sul|
Aluminium Lead Mercury Copper Which of the substances is the lightest one: .

98.6°C 37°C 37 °F 15°C s 7 2 67300 | 7
Normal human body temperature is:

Qxt %, Q/t Y, Rate of flow of heat is? ?q..&n(/;d/ﬂ(. Ledz| g
6X10%3kg | 6.6x10%5 kg | 6 X 10%*Kg | 6 X 1034 g | Themass of earth is 2+JLKU3J .9
S et ‘_,;__le ab | eryst | e e (P hed TS 10

None o Decrease in | Increasein | Increaseinmass | Value of ‘g increases with the: .
of the above altitude altitude of the body

VJ’( ,:l:V JL ST -q:.b“«m/JufE = mc? 11

Coulomb |  Galilio Newton Einstein | Whose this equation: E = mc? relates to: '

12% 9% 3% 6% | The efficiency of solar cell is: :‘LU/?&'JL):))’ 12
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. . L J552 Gi) Define prefixes. -/~ 4/ <4
‘What is meant by brownian mOtlon??+)l/L’("——Lf w3z i i ui"JJ/’ o u//, /f.b/)f ”,Jf b Gid)

Differentiate between atomic physics and Nuclear physics.

(a) 0.00045 (b) 384000000 .u:“’F W )"..f»?’v Gv)
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Define resultant force. <25 Surdedz, O
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Define energy. Write down its SI unit. . 5 s B Jb’ J Jf:{Om:" d’:i Jl’) .__l,'lio skg  (vii)
Ualaity of a body of mass 0.5 kg is 20 ms™'. Find its Kinetic energy. &=+ 0/l 4

No -

Express in scientific notation.
Define vectors and write two examples.
Define acceleration . Also give its S unit.
Write down the difference between mass and weight.
Ifa book is lyieng on a table explain about action and reaction.
Answer briefly any Five parts from the following‘s. ) .5 x2;;l 0
What is 2 Global positioning system? S5l / Lf;r‘/ ..—E—:’-/.gdf G
A Force F acts an angle 8 with X-axis. Write down
the equations to find its rectangular components.
State both the conditions of equilibtium.
Why the gravitational force is a non=contact force?

itati i its equation.
State Newton's law of Gravitation. Write down its eq

Answer briefly any Five parts from the followings. 5x2=10 _g{/ /_f .:«Lb?/‘? [.fz:égc_éf e LSies -4 / Jir
State Hook's law. U ok w6 (i) 3’@0&)_—23 State Pascal’s law. SOk E L@

Write two consequences of radiation.-u.‘.‘i eI AL 84 Gv)

Write principle of floating. -u_j/x,.}dﬂlﬁ.;" (i)
Differentiate between heat and temperature.

LS ¥ Aalets @)
-;.)l/kf:,d.jd;ﬂr"(f( (vi)

e (¥ Uil ::’:Lc,bd/,,f? (vii)
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What is meant by internal energy of a body.
Why does land breeze blow in the night.

What is transfer of heat? Write its modes.

Partee oo II [ -~
Note: Attempt any Two Questions. 9x 2=18 ..g,[f 4 f. @LU’ZL@UV»LJI:J.J
5.a. State and derive Newton’s second Law of motion. 143 _afL:;u,:uy.J 7 bty ()5
A train starts from rest. It moves through 1 Km in 100S 5 cﬁ)‘ﬁpwg,{.éfc, Pbe cdedesisigi ()
with uniform acceleration. What will be its speed at the 4:#,.6100..6“—(3/ L ez, LIS L1004 L
end of 1008, A St
6.a. Define Potential energy and prove that P.E=mgh, 4

P.Esmgh SEetumzt oy UGSy (26
Lnd b0 AL Xy 2SS )
P Ui e 20N el X Kb g/ S
s enlaf INEEJIE A @7
b. ks, w7 Lo by £65°Ce10°C EA s ()

How much heat is required to increase the temperature of 0.5 kg of water from 10 °C to 65 °C
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b. A force s acting on a body making an angle of 30° with the horizontal,
The horizontal component 3f the force is 20 N. Find the force.

7.a. State Archimedes principle and also derive its equation, 4



